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1. Rrlifer o o
@R (o) R A
()RR () 9

2. I TeE e f - s e e
frn 1 TR @ 7
(a) SRomdh 1 Tt
(©) g (d) R

3. R b1 2 I8 A A - A R

(c) TV EmH  (d) et FdaH
4 Pl § doan-agE Y T R

() A - TEd (b) AT — TeRd
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%%a‘ﬂmwﬂfﬂ'@?ﬁamﬁ, A2 74 | xu
Wf@maﬁﬁ?’”
; _gafa, B

mﬂg@,mm&wmwﬁmﬁ'

5. e 1 A 8
(a)mmmﬁ?ﬁ“
(b)wﬁqramﬂﬁlﬁ’-‘““

o i 3 g e T
(a) g@%m‘%aﬂtmﬁiﬂﬁi

(b)mm%aﬁ%%
,@(c)’ag@%m%aﬂmsmz
Wéaﬁ%ﬁﬁmaﬂ

9. itfie qarl ¥ Wi SR W et ST @
(a) W FOI T HR
(b) WETE F@i &1 e HR
BELEERE R EIET
Mmg:@mt@m




10. &N T 'Y Gy
(a) JTE @ I

\b)-3TTE T A Iy
(c) JTE Ht waTE Ty

(d) STEER R TEEE

‘I T 7Y T R}
P TmIR (1) wa R
(C)tﬁ?ﬁ (d) m'ﬁ“ﬂ'ﬁlﬂ

(@) AT - gETER (b a1 - e
(c) 30 - B (d) W=t - gl

Frerferfera 2 fore ree % wamfires vt a s
e

(a) TF=HTT
(c) =Rt

11.

13.

(b) Freean
(d) 3T

HEEqU Ff FOTE I Ry 6 ARt §
o e & Rt T 2 7

F (2) Tt aelt & (b) oraft aveht §
Afer 7 e (d) et et §

15. ‘rSfas & auma @

(a) Fegew
(c) &%

14.

(b) =M
(d) Hur™

16, ¥IsE 994 i gfR @ 7w yrg 9 R
(a) TZATY TR A F& AT 1 A s
HIATE GIATR |
(b) TST &R ¥ WY 1§ Herardt e g |

(c) T & <N WIT 0T FwQ € |
(d) == YT 3 3 7741 < T |

e
/ g2~ 2
e, 3T
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1 a4
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B
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N
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(a) TR =
(o) Fere @ ¥
- el 3 P @ AR R
(a) & (b) T
() & @ T
21. 'W’Wﬁﬁmﬁmﬂﬁ%mﬂﬁﬁﬁﬂ
gt H RN S R ¢
(a) 3] (b) 3
(c) 30 (d) T
22. ﬁnﬁmﬁm’mmm%
(a) TR (b) feram
(c) Taqat (d) W
03. Tl ez i o o o T W fopw Tl W ST
Xammd ?
ek (o) ©
(c) & d ¥ .

17. ‘Iewd’ 1 T 2
(a) Frerd (b) Ivard
() s (d) et
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24, Fj| in the blank in the g
y Choosing th N the given sentence | g Heeless i what
€ correct option Priceless investment for your children- )

No sooner did she arrive ' delight is there like the revelation of P’O‘:ﬁ'
started laughjng —__ they|[ - the sudden impact of a mastcl"SPl_n’t'rse—,
than . b Sense of a window flung open to the um;:;hicﬁ

(c) then (b) when 4~ Itis the adventure of the mind, the JO¥ chenturc

(d) that does not pass away, that gives the &

of life itself beauty and fragrance-

25. Which of the following options has 28 u
h | . tan th
. Books are impor buys

the correct passive voice form of the
following sentence ?

‘Lock up that house.’

(a) the person only, who
tion

b) the coming genera W
-£C))’ the buyer and his next gener2

(a) Let that house be locking up by you. .
~B) Let that house locked up by you. (d) all citizens ovide
el Let that house be locked up. 29. What delight does 2 good bo&trp.;f its

(d) Let that house being locked up. " (a) It tells about the char?

rearn @ lot of

26. Choose the appropriate meaning of the
phrase “put up with”.
Adf tolerate
(b) puton a high place

(c) put clothes on
30. How can We€ c

(d) keep safe

7. Which of these words is wrongly spelt ?
: (b) institution

(a) ambition io
(c) collection _{df transmition

truction for Question Nos. 28 to 31

i 1ly and
the following passage carefu .
the following questions that follow :

When 1 go into a stranger’s personal

library, I wander round the bookshelyesér':o
Jearn what sort of person the stranger ;ls o
when he comes in, 1 feel that I_kr}ow the X
to his mind and the range of his interests.
house without books is a charactquess house,
no matter how rich its owner 1S. The rich
decoration of the drawing room and bedroom
and the luxurious bathrooms tells us that the
man is wealthy but the books tell you whether
he has got a mind as well. It is not a question
of money that we do not buy good books or
maintain a library of good books. [ repeat
heapest and the best

that the books are the C
part of the equipment of a few dollars. Nearly
all the best literature in the world is at your

command at two dollars a volume. For 100
dollars you can get a library of fifty books.

Ins

Read
answer

31.

Even if you do not read them yourself, they are

C &

—

32.

owner
(b) It helps the owneé

mone ‘

t ope}rlxs the windowW to the
jverse

tis sure of wealth

(d) Itisa great trea
ommand the best

ge library in

of wo!

literature ?

(a) By establis
our city o

urchasing a volume pricing

two dollars only ‘

(c) By purchasing all the good book
of the world

(d) By downloading the
books of the world

hing a hu

pdf of the b

The compound word ‘master-spin
the passage means
(a) a master of spirits
—{b] the spiritual effect of a master
(c) the controller of men
(d) the controlling spirit

Choose the correct indirect speech
given sentence.

The doctor said to me, “Take this
medicine twice a day”.

(a) The doctor told me that | sho
take that medicine twice a ds
The doctor said to me that 1+
eat that medicine twice a da

(c) The doctor asked me that ] S|
take that medicine two times

(d) The doctor advised me to ta'
medicine twice a day.



\33 Ff‘(‘(’ll‘)ack ™
behavioyy an

o ey

d im chvel

A Prove Derforx:,'h
il:Y

. Unijcgy

(b) informa) co m““isanu

; .JC)’ihtchCrsonal Comum, on
icar:

| i ety cummunicatinn Cation

34. After watching 5 footb
two paralle] teamg

2 Perso
he beforehang ewi

W that the
team (winner team) w

This is an example of
(@) Group think
(b) Subliminal propjer, Solving

(c) False consensyg effect

\_{dJ Hindsight bias

/é?Pointing towards a persop
to a woman “His mother ig
daughter of your father”.
woman related to that person ?

\%ster

(b) wife

\ /e mother

(d) daughter

o

Communication that .savr.:s t1.mean
and facilitates co-ordination in
organization is called

(a) neutral communi.cati'or:l

(b) upward cornmufnca'tlo
_(cHAateral commumcatllonti )
| (d) downward communicatio

36.

n inSists th

ah“l{e
LT

at

‘c\.llau-
S gOII'lg to Wln

y 4 Inan said
the Only
How is the




] 9 (42 » Y\ .

) ) k’b‘l ‘y ’ ( (/s \

\

il il )t
4 (\ l/' /()'- Y

[fthe p &
d ay
What W before vesterday was Sﬂwﬂ:tg r
- a

tOmOrrowypW“l be on the day

(@) pyj diy

38
+ In .
the context of decision making

Persong probabilities are commonty
referreq to as

&) Social probabilities

(b) Adjustable probabilities

teI Subjective probabilities

(d) Non-functional probabilities

39. When 4 polynomial p(x) is divided by
(X = 1) and (x - 2) it leaves remainders 5
and 7 respectively. What is the remainder
when p(x) is divided by (x - 1) (x - 2) ?
(@) 2x + 1 (b) 2x - 1

(c) 2x-3 (d) 2x + 3

40.  Which of the following is NOT an obstacle
In mindful listening ?

(a) prejudgement

«bjdual perspective

(c) message overload

(d) message complexity

In a survey of 60 people, it was found
that 25 people read newspaper H,
26 read newspaper T, 26 read newspaper
I, 9 read both H and I, 11 read both H
and T, 8 read both T and I and 3 read

all the three. The number of people, who
read exactly one newspaper, is T FHTERYA 954 §, ®
(a) 21 (b) 25 (a) 21 (b) 25
(c) 30 (d) 52 (c) 30 (d) 52
g — H -6- )
76 o — < /
Y, 7T

37,

38.

39.

40.

41.

[ %

| ¢

SMRN-2"-

(o]
/

Ve

i a1 e 3 vt 1 et T e, At 7
el % arg a1 3 g 7 L
(a) YT y
(b) TamT e
(c) guan

(d) ¥eTam

Frofer 1) 3 wed #, safferra eI Hi
TR 9 g7 STl 8

(a) |rHTfSIeh e

(b) FHTEST GEITT

(c) TerfIss eIl

(d) TvehrEicash FEsTegal

5 ferelt s1g9R p(x) I (x — 1) 3?!’(()(--2]
frfera o siTan 8, Y Siwdhet SHAE: S TF 7 &

2 | 77 YIS S 5 p(x) B (x — 1) (X - -
Q frfsra foran s 7
(b) 2x - 1

(a) 2x + 1
(d) 2x +3

(c) 2x-3
Frerferiad o @ F wae gaw d A AE R 7

(a) T

(b) e gfeeapton
(c) TawT IFfIR
(d) G Sifeerar

60 =afRmt % gaso 3 g T & 25 st
IURYT H Ygd 8, 26 GuERYd T 9gd F,
26 GHTERYT | 95a €, 9 qFi H 3R 1 vgad &
11 31 H 3Rk T 9ga €, 8 A1 T ot 1 ugd
Ay 3 vt o v § | AR o |, St
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If a person attempt to s

olve '
on the basis of his past & problep

experi 42, oy s P T T T
called Perience, itis | e o o S A B, IR 2
i_&) functional fixedness (a) W@W
4Bl mental set (b) e
(c) transfer effect © S T
c
(d) confirmation bias q&aTd
(d) 9
43. The sum of deviations of a set of 43 Yaoil  TE X1 X2 0o x, ¥ 50 @ fqu ™
observatlxons, X}, Xy, ..., X, Measureq ' 5 <p1 20T — 10 2 3l 46 & o ma Tt
from 50 is - 10 and the sum of deviations Jeoit < T R
from 46 is 70, then the number of _ﬂaﬂ—,o%,?rﬂ
observations is
(a) 40 (b) 30 (a) 40 6] =9
(c) 20 (d) 10 () 20 (d) 10

44. Purposely manipulating information in
communication process is called

aa, G S T R TR R F,

FHeandl ?
(a) Filtering @) A
(b) Assertiveness (b) FEATHT
—1¢) Deviance (c) far=re
(d) Abstraction (d) SLal
45. Choose the pair in which words are | 45. ‘{W’Fma Ao I T 3
differently related. (a) AIY : TS
(a) Crime : Punishment (b) Faefa ; T
(b) Judgement : Advocacy

ey Enterprise : Success

(c) T : oheraT
(d) Exercise : Health

(d) ST : WA

46. The objective of decision making

46. Tt A F IQW AN TMRY
should b:)‘c " - o) T8 -
(a) To make the correct choice 7
_[b}To make the best choice (b) w3 e a1 Pt
(c) To make the risky choice (c) TRa W T = Fuafoon

(d) To make the reinforced choice

(d) wafera ferreg =1 Puto




."‘.f \f ,\«'/(,(’

b

ﬁ R SMRN-2 ~ 2]

47. A, B and C can do a work in 20 %7 and | 47, A, B 3f C fieh @ 71 5w1: 20, 30 1 60
00 days respectively. In how many days il 3w gaa § | e faAt 1 A 34 il F Ty

can A complete the work, if he is assisted F gl 8, 4fe a8 e et faa B 3T C 3m

by B and C on every third da¥ ? R 9T e 8 7
(a) 12 (a) 12
(b) 15 (b) 15
(c) 16 (c) 16
d) 18 (d) 18

sNOTaway | 48. R 3 & H-a Fvelt awe & T 8

48. Which one of the followingi
of thinking in order to solve problems ? foma o i T @ 7
(a) Algorithm (a) e faf
(b) Trial and error (b) ST T Ff
(c) Heuristics (c) Ta:Any
(d) T

/(d') Anagrams

he following words | 49. frffige Wl @Y TS TeawIy & FTER
find Srafed 0 dhaq s8I HIfT |

Queasy, Queen, Quality, Question,

49, By arranging t
according to the English dictionary,

the third word.

Queasy, Queen, Quality, Question, Quarter

Quarter | Qo) - Oue T (a) Quality

(a) Quality

A (b) Queasy
(c) Quarter (c) Quarter
(d) Queen (d) Queen
50. According to Communication as mutual | 50. Qe S -3 & §9 H F Wi’ % IEN,

transac.jtion model’, interaction between <t % we o frar R
people is

(a) interpretive (a)

(b) interactive (b) CCRERIGE]
(c) simultaneous : (c) HEamiE

__[d) simultaneously interactive (d) gEwIiT o7 fhaTceT
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51. Communication will |
| he cﬁcciivc' 01t |y oy, 1t 8
(a) delivered slowly ang cleay| 51  w gqurel BT
(b) delivered using b iy o @ piRE—
_A¢) received as intg PPIOPriate meg, o i v A P I
| . ended by the Sender (b) 3“)'1 “‘m" (o # gra fem w4
(d) received immediately (c) Sy & a1 97
(d) TR <
52. If +'means %', ' means +, %' meang 4 ad %, = F o '+, T qd .
and +"'means ', then which one of y, 52, af2 + ® o < B, @ Prefefaa advaron 4
following equations is correct ? . qut ' o ad 2
(a) 18+6-4%x2+3=26 i’laﬁ“‘m _,4><2+3"26
(b) 18 +6+4-2+3=22 (a) 12:6+4,2+3-22
(c) 18-6x7+2+8=63 (b) 18__6x7+2+8'63
(@) 18X 6-4+7x8=47 O ax6-4+7x8=
S3. The correct word in place of ‘?’in 53 FISH: CLPK :: NOSE : ? 4
FISH : CLPK : : NOSE : ? is ' ‘o,%mq{gﬂ!ﬂ%
(a) KPLC (b) LKCP (.a) KPLC (b) LKCP
(c) KLPC {d'KRPH (c) KLPC (d) KRPH
54. The following table shows the distribution | 54 =t @t 1000 i & A T4 %
of weekly salary (in %) of 1000 workers : ' frqe @ (3 ) wefdia e 2
/_ i
Weekly Salary | No. of Workers areaTiees A weETRE! T
el
Less than 50 40 0 & & 40
51-175 120 — 5§1-75 120
76 - 100 200 76 — 100 200
101 - 125 300 101 - 125 300
126 - 150 150 126 - 150 150
151 - 175 100 151 - 175 100
176 - 200 55 176 — 200 55
201 and above 35 201 3k afue 35
The percentage of workers with weekly 7 125 ¥ 9 qY1 T 125 T QIGES I 9
salary less than aytof 125 is m@EﬁTﬂlﬁiﬁlﬂﬁlﬂﬂ%
| ) 66 (a) 81 (b) 66
(d) 19 (c) 34 (d) 19
.9.

1877

o



503

ﬁ ' : ‘ oA oy, *
¢ % ©~ SMRN-2._,

S5, A
. t What - N
fate of compound interest Per | 55 g arfe W%ﬁ DAL 1,200 ¢

ANnum iy
a sum of ¥ 1,200 bec
¥ 1,348.32 ip, 2 ycar(; ? FEHEY YATRT 2 991 3§ ¢ 1,348.32 & ¢ 7
(@) 4¢
) 4% (b) 3% (a) 4% (b) 3%

6% .
\SHE Al 5% (c) 6% (d) 5%

S6. Communication among members of the | 5¢ F 3 e g R
same group js . WM TR ¥ g1 & 1
(@) downwarg communication (a) St Fese
ateral communication (b) wifee F=wwr
(¢) optimum communication (c) Tam T
(d) upward communication (d) Tt FESET
57. P Y & B 7 TR A 5

S7. Count the triangles in the following

diagram and find the correct answer. e I I AT |
(a) 14 (b) 18 8 14 5 -5
(c) 16 (d) 20

_Ne)'16 (d) 20

58. How many numbers from 1 to 100 are [ 58. 1¥Ja 100 7% 3 et deamd § 7 ¥aw 4 3
there each of which is not only exactly i A R afr s 4 F e i @) 7
divisible by 4 but also has 4 as a digit ?

(@) 7 (b) 10 (a) 7 (b) 10
(c) 20 d) 21 (c) 20 ) 21

59. Which one of the following is a version of | 59, iy 3 & F-a1 e wawm I Tty

Uivi'dc-and-conquer strategy’in problem w2 3R -y =1 o W R 7
solving ?
(a) Analogy (a) Wrgwa
(b) Trial and error (b) 3 @@ R
_{e} Means-end analysis (c) AmA-gre favstym
(d) TRET whagor

(d) Hypothesis testing



60,

61,

6
2 The Problem gq

lving pr i
8]
an €Xcursion t L

hrough
(@) Mental fixedness

(b) Response fixedness

__leyProblem space

(d) Active perspective

63. The median of the following distribution

) 113 seA 1 AT 28.5%, T x 3
1s 28.5, the values of x and y are 63. afA fel 3
respectively y 36 A
__’/j-———"‘_—_
1 FARERAT
Class Iterva | Frequency e} N
-10
0-10 ; 0-1
-20 X
10 - 20 % 10-2
20 - 30 20
20 - 30 20
30-40 15
30 -40 15
40 - 50 y
40 - 50
J 50 - 60 5
50 - 60 5
where the total frequency is 60 & et a6 @ )
9,
(a) 6,9 (b) 9,6 (2) 6,9 (b) >
(c) 7,8 (d) 8,7 (c) 7,8 (d) 8,
o -11-
9 261 T 4
gol S
/
il

__—-M‘r

&

' &)
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60. ApC wr By, TR AB = 3., BC =4 4.

61,

62.

ﬂ‘méBngD'W
s e & oM

A 9Tl g AC F1 D T
gd 1 D W &9E BC

2 | s el ? R

(a) 1.8 ..
(©) 258

xﬁﬂf‘mmw

(3(x+63)* 640) T

(a) 82
(c) 7

g FATI
(a)

(b) 2.0 4.1
(d) 3.0 T

<rm o fodl wem

ate 17 A fnfom &1 7

(b) 24
(d) 3

e e % e @

(b)ﬂwm%mmﬁ
() e S T A
@ ¥ W-;Fmﬁmﬁ

—— .
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64, 15
: In g
74128md; l&nguage PAINT is written as
and EXCEL as 93596, then hoy,

will Ace
EPT be written in that Code ?

ass
" 978 (b) 544978
354978 (d) 733961

65. Seven
: pc'lcspsQ.R.S,T,Utmd\#’al‘t'iput

Eesi:ah:’:y that the distance between
distance decreases by 1 metre, The
e 0 1 OGtWEQn the first two poles p
between s tmel:res.. What is the distance

pole P and the last pole V ?

(a) 42 Metre ,{@U@:\ Y
A" 45 metre \ Oy
(c) 48 metre %@
(d) so metre f
z,
P

66. Which one of the following is NOT
Included in Paralanguage ?
(a) Voice quality
(b) Verbal interaction
(c) Speech rate
(d) Pitch

67. Which of the following character placed
at the sign of question mark (?) to

complete the matrix ?

4c | 2B | 3A
|28B| ? |45B
/ 7B | 5A | 15C
(a) 7C NS gle
(c) 12C (d) 13C

-12-

SMRN-2 - 5,

64. af? faeft 2 W U PAINT %I 74128 finp
wrm & st EXCEL ) 03506 A @, 7 3,

ACCEPT #! &3 feran sam ?
(a) 455978 (b) 544978
(c) 554978 (d) 733961

wm@™ p, QR S T, VTNV WiEmy
ot & o apra @ @R & AT AT 1y
aﬁloﬁa%|ﬁé@rﬁpmaﬁﬂﬁt‘!‘1v%
da it g R 7

(a) 42 HIX

(b) 45 HiX

(c) 48 HIX

(d) 50 Hi&

65.

-

Freferfia 3 & a1 T o (Yot &
e T R 7

(@) ST TR

(b) wtfaes a7a:fran

CEERE

(d) =

66.

v g (7) % v w0 Frefeo # @ Ao

67.
S dRF RN @R ?
4Cc | 2B | 3A
28B [ ? |45B
7B | 5A | 15C
(a) 7C (b) 10C
(c) 12C (d) 13C



69,

Tl

Lomum pym

B Mmber of coloy

b QUireq to paint all faceg of a
atng . a cube,

0 adjacent faces m ‘
our, s ay hElVe Lh(‘!

With reference to de

Which statement(s) is/are correct ?

1. Human rationality is limited.
2. Any individual can improve his
decision making through practice.

Select the correct answer using the
codes given below.
Codes :

(@) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2 are correctl/
(d) Neither 1 nor 2 is correct

Which one of the following is NOT a

number of the series ?
1, 8, 27, 64, 125, . .,

(8256 (b) 512
\(};{729 (d) 1000

cé\
{
bt

Arrange the following in correct order,

1. Chest 2. Forehead
3, Stomach 4, Ear

5. Leg 6. Chin

(a) 1,2,4,6,3,5
ubr2,4,6,1,3,5

(c) 5,4,2,6,1,3

d) 1,4,2,3,6,5

cision making,

-13-

69.

70.

71;

e

gMRN-2 - 21

éﬁ%ﬁa“m_m/ﬁaﬁmwﬁlﬁ?
s ﬂqaﬁam?ﬁﬁﬁ%l
l.aaﬁmmﬁamaﬁmm"‘mﬁ“h
Qaﬁawﬁ'{mgl
473 foe R T ST A AT
A
FC
(a}a,aamﬁ%
(b)WQHﬂ%
(C) 131112#?[?@%
(d}q?hlaﬂ(qg}Q-aﬁg

Frferfa § @ FA-H Aoft R Fen TR 1
1, 8,27, 64, 125, . . .

(a) 256 (b) 512

Frerifa = weh orgew 3 sater R |
1. BTl 2. Wdre

3.9 4, TH

5. % 6. 3

(@) 1,2,4,6,3,5

(b) 2,4,6,1,3,5

(C) 5, 4, 2, 6, 11 3
d1,4,2,3,6,5
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2, )

fa+bee o 3, the value of

{

“ - 3)3 + (1 - b,.‘l + “ - (7);1 - 3(1 - a)
“-b,[]—c)is l’/ /."

(b) 8 s . ) (/ ) f
() 1 [ A (L l, [,

(d) o

Q d4c1c —17"("(’ -~ _)

73. Which one of the following is @ basic
method of effecting behavioural change ?

—& Communication
(b) Recording
(c) Optlrnal rest
(d) Rhythmic evaluation

74. In an examination, the distribution of

marks obtained by 30 students is given
in the following table :

Marks
(Class Interval)

10 -25
25-40
40 - 55

No. of Students

55-70

70 — 85

ool N|w]N

85 -100

The mode of the data is
(a) 50
(b) 52
(c) 54
(d) 55

SMRN-2 - 21

72, Masb+c=3 A ,
(l—a)‘+(l—b)’*(|'c) = 31 - a

()'}‘ (1-b)(1-c)FamA2

(a) 27

(b) 8

(c) 1

(d) O

73. ﬁn%f@ﬂﬁﬁarqsr{qﬂaﬂ?aﬁwﬁﬂmaﬁ
o sfafu FA-# 8 7
(a) TESHOT
(b) arfrerEA
(c) Fezam fazm
(d) T AT

frcht whier & 30 frenfial gro wrea R T
=1 s Frefefiaa aneft § e mn

74.

UTCATR
(Tt ataret)
10 - 25
25 -40

frenfelat < @&

40 - 55
55-70

70 - 85
85 - 100

2

3

7
6
6
6

3 Aishel 1 TgeTH &
(@) 50
(b) 52
(c) 54
(d) 55




N S

(&) 15th " o Presorfi )
Auguat . . SMRN-2 1
(b) 26t "’ l -
| Ngvemher 7 # & wEma A |
‘C th
) 14 NOVembcr"" e
(d) 26th January piwhes
(c) 14 Fawn
76. |f v ’ QGWW et
X, ¥,z are POsitiye inte
=71 .
Mdy:,.q e v
0 o y Tﬂ;!ﬂm Xy
o mc fouo : . .u bc e whlc uﬁ Xy.Z - 5 _(ﬂ ﬁ '@ ﬂﬂ-ﬂ'l
o Posg bleval T -
( Yt+z? 5x—3y+zﬂwqu?
a) 180 n |
[ 2
(b) 190 s g ;
o 2‘: 2 ,:L (b) 190 . S o
: L ¢Y
(d) 200 o B
mz Y (@ 200 LU
S0 = Ll + ¢ (2 i

(il ‘
The most frequently cit’e’tEl source of | 77 W@iﬂm i REA A ¢

interpersona] conflict ig

(8) Organizationa] norms (o) TR T
ey Poor communication (b) A

(¢) Structural configuration (c) FEA (I

(d) Social pressure (d) ErfeE e

. AR =
78. Choose the pair of numbers which is | 78, T@T % TH 1 T

different from others.

e 14, 12 o} 14, 1

(b) 28, 6 (&) 38: B
(c) 34, 6 (@ 9%
(d) 42, 4 ) 8%
= 18-
e ———— S ——————




e

79 o han and
. One ; Mo .
morning after sunrise, jawn with

SOhan were standing in @ 7 rohan's
their backs towards each O”‘CThand side.
shadow fell exactly towards I."nf ce?
Which direction was Sohan’s '
(@) East
(b) West

North

(d) South

oy fOﬂn of
‘Sleeping on a problem’ 1 #

(a) Abstraction
(b) Emotional instability

80.

(c) Incubation

+d] Passiveness

81. If ABC is an isoscel®® trlalon e gned
AB = AC. E and F are POU‘:SAE = AF. If
AC respectively such tha ual to
ZBAE = 40", then ZFEC 15 %4
(a) 10°
(b) 20°
(c) 25°
(d) 40°

_ Assertion (A) : Moon cannot be used as
a satellite for communication.

Reason (R) : Moon does not move in the
equatorial plane of the earth.

Choose your answer from the options

given below.

(a) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(b) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

4] [A) is true but (R) is false

(d) (A) is false but (R) is true

79.

80.

81.

82.

-16-

SMRN-2 _ 2

st 3, v o g A S HEA TF o g,
qeit ) s i3 FH @G 8 |I?fz’-{ﬁﬁlmmm._hm
areff st g 1) B | EEA o ge PR R g
(a) 3

(b) afzem

(c) 3wt

(d) =fgm

“TE o s O YR 3
() 3Feefer =61

(b) HarTrewes rfeaar sl
(c) 3g¥a =1

(d) Ffsraar =t

af¢ ABC U= wmfgerg gt @, "W AB = AC.
E 3 F #39: BC 3t AC W W farg &
AE = AF | 3¢ Z/BAE = 40°, @ ZFEC T=R ?
(@) 10°
(b) 20°
(c) 25°
(d) 40°

HUA (A) : T R T R T IR F
H W e faan s aehan ® |

RO (R) : T30 et 3 e aae

TEmR |

e SuifRga el § | IW & T

(2) 3 (A) 7o (R) T & 3R (R), (A) R
T R

(b) 3 (A) T (R) ¥ & WY (R), (A)
T TR ©

(c) (A) §U ® W] (R) o184 ©

(d) (A) 37 § T (R) 4R



84.

\V hi(‘l]
. e g
NOT ¢ for e foly
worq m . Ow
IQD‘I\E sll\R 1} R Wnl" o
(&) PAgg) 1ONAL, .; ey n[;h SMRN.2 - 3,
(b) FINaL th PROFESSIONAL' 7% % siait iy e
k_LC_}«NDR | n Y1 o e q'ﬂ AT W -
(q) May, (8) PASSION
LESsIg
(b) FINAL
I (¢) NORMAL
Order d) LESSION
eeds of 20 SRSy the P ’
Autg Mpete Sychg) .
hicﬁomy' AN effegyy o nes:ELca:l 84, wwmran, wargan ST A it
SKill« v . - - .
@ kllsare ece\sc TeDertoire of Wﬁﬁwm%%ﬂ_&ﬁmﬁ
" “Pelitive skipg Uy SR e § 7
« 88ressive skill (a) e P
F)recision skills (b) m\’lﬁm.m
lntel‘pel-SOnal Skills (c) q'f(ﬂziﬂ m Eql

(d) Siadafaaes S o

Y | 85 . g1 fordl =2 9 W e w2
tr hed
in a big city ? © ensport syste mmm@aaﬁﬁmﬁm7
Arguments : S '
L & | zed R i S T anaEh
el wiereaat S 3T | R \

L. Yes. This will put an end tq unhealth,
competition among different Y

companies.

II. No. The travellers should pe given

1L 1 | e R a6 W S
a wider choice of transport syster

TS STEeY AL IR, |

:E.l;f; 2f the above argument(s) is/are —— Ao T e A
Answer with the help of codes given fefiifiaa g2 3 MR W SR A )
below : Fe !

CM;’; ikl (o) ot s L T R

a) Only argument 1 is stron

l;b;/Onlfr argguument Il is stro:g (b) ¥ o 11T R

(c) Both arguments I and II are strong (c) B 7% 1 3 11 T R |

(d) Neither argument I nor argument Il (@) 7 ek 1l ok 1L T !

is strong

«17-




\ e v —7 AT — h
, N g (7 :
C . P 7
BE e
86. Use of ana.logy in problem solving means | 8¢, 9w gTaE o AEIgqd #] IJ5m Zatn 4
./fé)/ pplication of techniques that were (a) TRl &1 srwam ;
used in the past similar situations - 3 ﬁi??mgzlmﬁw
(b) importance of escalation of
commitment (®) 1 3 #1 7Ec
(c) elucidating (c) =T
(d) uncertainty of techniques (d) a1 ) srfafraaa
plane left 30 minutes later than the | 87, & amam a3 fvifa ama & 30 s
scheduled time and in order to reach its 3%1 AR 1500 .. [ AN TR W ER S
destination 1500 km away in time it has g ¥ g areeht P s 8t 250 5.1 5
to increase its speed by 250 km/h from o Tea 3 | i iy 2 o
its usual speed. The usual speed is )
(a) 500 f&.H. /4.
o @500 km/n (25
b :
Z/"’ (b) 600 km/h vo 1&% (b) 600 &sh. /.
(d) 900 km/h VU _L%(-fi' (d) 900 f.#f. /4.
/25— T-2°
. 88. Which option is/are to be followed ? 88. foru oy 1 argaw R s 8 /8 7
Statements : Some fruits are flowers. FUH: FORAGAL |
No flower is a boat. T EATATER |
All boats are rivers. e CE s
Conclusion : I. Some fruits are rivers. fremt: [ Fowra T ¥
II. Some rivers are boats. I g At e
5 I1l. Some rivers are fruits. 1. AR w1
¢ @ IV. Some flowers are fruits. IV, @@mh
f Codes: er ’,'5( ’L)/
(a) Only I and Ill follow 27 — :tkaa I @ [11 rgaha 8 &
@/ (b) Only II and III follow (f\’ ’ ) Y (b) ¥ 11 e 111 3rgafie €1a &
/ k_,(o)/Only Il and IV follow ,) U‘/ (c) e I AV algﬂi[il‘@ﬁ% >
(d) None of the above ( o (d) mﬂ‘ﬁﬁf‘* W TS o] - &
\
SCI s zf cooT /)
f @ W /f’ ﬁ - ’ ‘_’,
T 7}‘ V5L, | Ve
| : oT_ 7



9. Wity

always cfficient,
Select the correct
codes given beloy -

Codes :

(a) Only 1 is correct

(b) Only 2 is correct

" _ie/'Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

L=

If the code for TALENT is XEPIRX, how
will you code SEARCH ?

(a) WEDVGL (b) WFDUGL

(c) WGEVGL 4y WIEVGL

. The optimal way for effective problem
solving is
(a) to balance distinctiveness and
processing
balance conventional and
1 non-conventional thinking
(c) to balance egocentrism and biases

(d) to balance assumption and
inference

If the ratio of the outer and inner
pcrimetzuofacircularpamiﬂs:zzand

CUMyE -, 7
89, Wizt f uhufumn, wyww m ¥ b ndosng
4 QA /a was wh b ¥ 7
1. U an Gy @2A vk A e b
2, U QT Aeg @A 2 A g v
1 23 o A V1 7 W) 70 e

L T4

(a) Faer 1 971 2

(b) Faet 2 FET 2

() 1 3R 23 wEl &
@adr 1 sRadi2wdi

90, 3f TALENT %1 %< XEPIRX #, 71 7%
SEARCH &I ¥8 %2 § foa 7
(a) WEDVGL (b) WFDUGL
(c) WGEVGL (d) WIEVGL

91, YT T GHTH 1 T2 &1 8
(a) Frfieedn @ weAv i Fgferd F=
(b) TRaRE & -urufe fam =
Tgfed &
(c) STeRERfzaT Ta rfvmfaat i

(d) arfyuren wa ergfafa & wgferd w0

92. R ww FaTwR Al Y arEdt qur iad gftarat

&1 AgaTd 23 : 22 R awrAni 5 A, S &, @

"

't

the pﬂth is 5 m wide’ then the di&m0ter al:ﬂltﬁ qﬂ'ﬂ-ﬁmﬁm
of the inner circle will I::o _ (a) 55 . (b) 110 .
(a) 55 m (b) (c) 220 #. (d) 230 .
(e} 220 m (d) 230 m
-19-
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93./ ‘Duma’is related to ‘Russia’ in the same

Way as ‘Shora’ is related to
(a) Afghanistan

(b) Germany

(c) France
d) Malaysia

94. Which one of the following model
emphasizes on the dynamism of
interpersonal communication ?
(a) Linear model

by Interactive model

(c) Transactional model

(d) None of the above /lﬁ)/

Y,

95. Sonia sold an article at a gain of 16%.
If she had bought at 4% less and sold
it for ¥ 8 more, she would have gained
25%. The cost price of the article was

(a) T 225 e = %4
(b) T 200 i
(c) T250 #O

(d) T 220 725

In problem solving the present

information is converted into
(a) mental temperament
(b) mental background,_—

(c) external mental representation

(d) internal mental representation

- T

SMRN-z -2

93, B 1 wr v A 36w @ o vy o,
1 Ay

(a) srFmfyeaEa &

(b) snffr &

(c) »Eqg

(d) weifirn @
94. Preaferfiaa & e —a wfireq SR G
N AT W e a1 2 7

(a) tetg gy

(b) 37a:fsrarens wfiey
(c) =FaeR wfrey

(d) 37 & A 1 7
F"ﬁmﬁ@aﬁlﬁ%mmﬁiﬁmﬁmﬁi

4% A TG g 3R T 8 Sfirs v A g, |
@ I/ 25% T freran | g 1 F @ W

95.

(a) T 225
(b) T 200
(c) T 250
(d) T 220

T GHIY § a9 SR warai fomn
eIk

(a) AT femwepia &

(b) WrfreR geavH A

(c) a1 WA wfaffue #

(d) 3t s wfafaftes &

96.

.20-



97. Find the wrong .,
series : Mber iy, ¢

(c) 124
(d) 215

98. Creative problem solving i5 agq
Ociateq

with

\la—)’éonvergent thinking
(b) Group think
(c) Active listening

(d) Divergent thinking

99. Controversy always involves
(a) Revenge
(b) Anger

(c) Passion

c/(d]/Disagrcement

100. What approximate percentage of
individual’s working hours is engaged
in interpersonal communication ?

(a) 80 - 90%

he fo]lOWing

98,

99.

100.
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7,28, 63, 124, 215, 342, 511

(a) 7
(b) 28
(c) 124
(d) 215




